Exercicios para entregar: Faga as conversoes, mostrando o calculo (sem usar a calculadora):

1) 11001100, = Xy,
11001100
2742%42%42%42°+2%42142°
128+64+8+4
2044,

2) 11001100, = X3¢
1100 1100

1100 c
1100

CCus

3) 11410 = Xls

0111 0010
0111 7
0010 2
7246
4) 11410 = Xz
114 /2 57 0 4
57/2 28 1
28 /2 14 0
14/2 7 0
7/2 3 1
3/2 1 1
1/2 0 1
1110010,

5) FA715=X10
1 1 111010011 1,
242194094284 0742%4 2%+ 204 234274 2400
2048 + 1024 + 512 + 256 + 128 +32+4+2 +1

400749
6) FA715 = XZ
1111 F
1010 A
0111 7

111110100111,



7) 10101110, = X4,
10101110
2742%42°42%42°+2%42142°
128 +32+8+4+2
1744,

8) 10101110; = X3¢
1010 1110

1010
1110

m =

AE6
9) 13510 = XlG
1000 0111,

1000 8
0111 7

8715

10) 13510 = XZ

135/2 67 1 A
67 /2 33 1

33/2 16 1

16/2 8 0

8/2 4 0

4/2 2 0

2/2 1 0

1/2 0 1
10000111,

11) CE915 = XlO
11 00111010 01,
21 42042%428427 425424 2% 23427421 4+2°
2048 + 1024+ 128 +64+32+8+1
3305,

12) CE946=X;

1100 C
1110 E
1001 9

11001110 1001,



